N & O &

ooy

[S= R

DlEolZa XSS (2RE)
Hos N (2Re)

g Al

- HH S (S AH) - NRAY - BES Hns2Z
1,037,375 1,000, 175 37,200
oEA XYL (22H) 773,391 736,191 37,200
Ues XYy (2ZH) 773,391 736, 191 37,200
A2 TSN (22H) 612,000 612,000 0
401 Al HI 2 200 612,000 612,000 0
01 Al&HI 612,000 612,000 0
OZ=1 A5t Al (L=35m) 23 0 0 27,800 A27,800
OZ =2 42234l (L=200m)
A 24,182,000 24,182 27,800 N3,618
OZE3 T2 L g =2 Hdl (L=50m)
23 0¥ 0 16,000 16,000
OZE3 =223 4| (L=80m) 23 0¥ 0 12,000 A 12,000
OZE3 ARDAIEE 2= (14]) 18,000 0 18,000
OZH3 522 = (L=68m) 12,372 0 12,372
OZE4 2SI 7 = Ul (10%5M) 8,500 0 8,500
OZ =4 OtA2LMN 27| (L=100m)
23 13,760,000 13,760 15,800 ~2,040
O=Zc4 2223 H| (L=80m) 23 0 0 12,000 A 12,000
OZe5 52 I 2 (L=50m) 6,580 0 6,580
OZ=5 ALY O0IE 24 (L=16m) 9,800 0 9,800
OZ4s =224 X (L=60m) Z& 7,300,000& 7,300 15,000 AT,700
OZ=5 45t Al (L=50m) 23 0 0 13,000 A 13,000
O&% 0tAZ « Hi4=2 = HI (L=100m)
23 28,000,000 28,000 14,800 13,200
OsH OFAZTMN 2| (L=70m) a8 0¥ 0 13,000 13,000
OUE1 2SAE AT & WA &X 6,860 0 6,860
O 1 €2 H|(L=300m) 23 0 0 27,800 A27,800
OO 1 Ctol 24 X (L=300m) 15,000 0 15,000
OUE2 S A0S HH<4=2 = HI (L=100m)
23 28,000,000 28,000 15,800 12,200
OUY2 SAH+2 &L =224 (L=50m, 10m)
23 0¥ 0 12,000 A 12,000
OKRH AWz=t&(L=5m,B=0.5m) 6,050 0 6,050
O|RY 422 4X(L=94n) A 10,729,000 10,729 14,800 N4,071
O|E =2 XA (L=150m) AH 15,000,000 15,000 13,000 2,000
O2¢1 T2X X L 423 4| (L=50m)
A 28,000,000 28,000 27,800 200
O2g2 S0t & 42 24X (L=60m)
23 28,000,000 28,000 10,000 18,000
ORY2 T2X X L 423 4| (L=50m)
23 0 0 17,800 A 17,800
o242 stac=4 3,149 0 3,149
O2Y3 #=22t4 X/ (L=60m) 15,000 0 15,000




N & 0l & Av S Z M A
20218 S 22 13 s 2B
2N 28
HE: FOBOZH KL (ST)
et BEQUS KAWL (2B CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
OZ &1 t1% = 2 6l (L=50m) 14,000 0 14,000
OSH3 0tA2% 4 2| (L=120m) 23 0¥ 0 27,800 27,800
O2#3 =2yl (L=120m) 22,541 0 22,541
ORI B4 2 B bl (L=200m)
ZE 28,000,0002 28,000 27,800 200
041712 & 2 % & (1=200m) 33 0¥ 0 17,800 A17,800
O&1JI2 OtAZ S M 2 I (L=250m) 14,000 0 14,000
O&JI2 MERYI(L=50n)  2F 12,720,0008 12,720 10,000 2,720
O%2R| s2EF(L=150m) HF 28,000,000% 28,000 27,800 200
O2=2 N &bl (L=100m) 233 0¥ 0 27,800 27,800
Og =2 45t# Il (L=44n) 28,000 0 28,000
OYZ1 2BHAX BAZ2+ 1,181 0 1,181
OY=3 A5t @ I (L=50n) ZE 18,000,0008 18,000 13,800 4,200
OY =3 4224 X (B4 ZL=100m)
23 9,630,000% 9,630 14,000 £4,370
O 1 A5H# Yl (50 2L=08n)
AH 15,550,0002! 15,550 27,800 A12,250
ORra2 OFAR M 2| (EFSA-1809T )
A 28,000,0009 28,000 27,800 200
OS4 OfAZ M I (X HBA=1602m)
AH 26,000,0009 26,000 27,800 A1,800
O=H1 MY (50 21=62n)
A 28,000,0009 28,000 17,800 10,200
O=51 B4 2 bl (L=20m) 33 02 0 10,000 £10,000
O=42 S2EZ U A (L=130)
A 28,000,0008 28,000 27,800 200
ORY F2YL2BEX 3,000 0 3,000
OARDALE S 4,896 0 4,896
OYT|I 52T S 92 MAANLHSY 18,200 0 18,200
IIES RABR(EZY) 94,000 56,800 37,200
01 Yer2 eyl 72,000 34,800 37,200
02 232l 72,000 34,800 37,200
O}2S ®JI22  FEF 6,000,008 * 28 72,000 34,800 37,200




